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d(z,A) = inf{d(z,a);a € A}
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(1) d(z,A°) >0000000 0 ADDDOOODOOOOOOOOOOOOO. 00 40 A
ooooooo.
(2) d(z,A) —d(z,y) <d(y,A) 0,000 z,ye XO00ODOOOOO0O0O0O0OO.

(3) f(z)=d(z,A) 000000000 f: X —-ROOODO0O0O0OOOOOO.

02 k0OOODODOOO.OOOO00OO4
O(z) =23 -3z +k

00000 300000000000000 Mk OOO.0ODOODODOGoooO.
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(2) M(k)0OD,00000000000000000.00000 0000000
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oogd.
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03 ROODO E() O
1
E(x) = /A (x € R)

gooa.obooobooaoo.



oo
/ E(x)dx =1
goagd.

(2) w(z) 0 ROODODODOOODOOODOOODOOOOOO,
u() = / Ee - yJuoly)dy (z € R)

000.0000 (1)0000

sup u(z)] < sup fuo(z)]

—oo<r<o0 —oo<xr<0oo

oono.
(3) p0 1<p<ooDDDDDDODOD. v(x) 0 RODODODODODO
(e.9]
/ lvo(x)|Pdx < o0

gooboobogooog,

goo.

04. o0 O0O<e<1lU0O000OO0O0OO0ODOO.0000O000O0O.

(1) 0000
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1@ = s i ra
000000 {2€C;|7|<1}) 00000000000,0000000000 f(z)0000
gooo.

(2) 00O

21 0
/ cos "
o 1+2acosf+ a?

gooooo.



